Calculus Thomas pa 169, 2-12all, 14,16,22,24,25 -2) $s(t) = 6t - t^2 [0, 6]$ 4) $5(t) = 4t^{4} - t^{3} + t^{2} [0, 3]$ a) 5(0)=0 displacement = 0 m 5(6)=0 9 5(0)=0 displacement 2.25 m 5(3)=2.25 ave velocity = 0+0 = 0 m/sec ave velocity = 2.25-0 = .75 m/sec b) v(4)= E 3- 3E2+ 2E $a(t)=3t^{2}-6t+2$ b) v(t)=6-2t a(t)=-2 m/2 V(0)=6 m/s V(0)=0 -1/5 9(0)= Z m/s2 V(6) = -6 m/g U(3)= 6 m/s a(3) = 11 m/s = c) $V(t) = t^3 - 3t^2 + 2t = 0$ C) V(+)=6-26=0 6=26 at 3sec 1 +(+-1)(+-2)=0 at Osec, Isec, Esec £=3 (5) $5(t) = t^{3} - 6t^{2} + 9t$ 3) 5th= -t3+3t2+3t [0,3] a) (10)= 0 displacement = -9m (13)=-9 a) $v(t) = 3t^2 - 12t + 9$ a(t) = 6t - 12 $0 = 3t^{2} - 12t + 9$ 0 = 3(t-3)(t-1)q(1) = -6 m/sz ave velocity = - 9+0 = - 3 m/sec $a(3) = 6 m / 5^2$ \$ 1,33 b) v(t)= -3t2+6t-3 a(t) = -6t + 6a (0) = 6 m/52. b) a(t) = 6t - 12 = 0 $V(2) = 3(2)^2 - 12(2) + 9$ V(0) = -3 m/sec 6t = 12 $t = 2 \csc$ V(3) = -12 m/sec a(3) = -12m/32 =-3 m/s 07(1,2) Speed 371/5) v(+)=-3t2+6t-3=0 on(0, i)-3(+-1)=0 $\begin{array}{c} (2) \\ (2) \\ (3) \\$ 517=4 lses $6)(1)v(t) = t^2 - 4t + 3$ a(t) = 26 - 47) Mars 5(t)=1.46t² S(E)= 11,44E2 0=(t-3)(t-1) 9(1)=-2 lsec, 3sec 9(3)=2 V(t)= 3.72 t V(t)= 22.88t 27.8 = 3.924 27.8 = 22.89 6 7,473= £ 1.215=t 7,473 sec 1.215 sec b) Former (0,1) back (1,37 1.215 sec Forund (3,00) c) decreasing on (0,2)

increasing on (2,00)

8)
$$S(t) = 24t - .8t^{2}$$

a) $V(t) = 24 - 1.6t$
a) $V(t) = 24 - 1.6t$
b) $0 = 24 - 1.6t$
 $1.6t = 28t$
 $t = 15 \cdot sc$
c) $S(t) = 24(-1.6t)$
 $1.6t = 28t$
 $t = 15 \cdot sc$
c) $S(t) = 24(-1.6t)$
 $1.6t = 28t$
 $t = 15 \cdot sc$
c) $S(t) = 24(-1.6t)^{2}$
 $1.6t = 28t$
 $t = 100 \cdot sc^{2} - 52t$
 $(t) = 832t - 22t$
 $(t) = 832t - 52t$
 $(t) = 832t - 22t$
 $(t) = 832t - 52t$
 $(t) = 832t - 22t$
 $(t) = 100 \cdot 12t$
 (t)

22) $b(t) = 10^6 + 10^4 t - 10^3 t^2$ $b'(t) = 10^4 - 2 \cdot 10^3 t$ $b(0) = 10^{4}$ $b(5) = 10^{4} - 10 \cdot 10^{3} = 0$ $b(10) = 10^{4} - 2.10^{4} = -10^{4}$ $\begin{array}{l} 24 \end{pmatrix} y(t) = 6 \left(1 - \frac{1}{2} \right)^{2} = 6 \left(1 - \frac{1}{2} \right) \left(1 - \frac{1}{2} \right) \\ = 6 \left(1 - \frac{1}{2} + \frac{1}{2} \right) \\ a \end{pmatrix} \frac{dy}{11} = \frac{1}{12} + -1 \\ = 6 - t + \frac{1}{2} + \frac{1}{2} \end{array}$. . . · · | b) Fastest at t=0., =-1slowest at t=12, = 0C) ----25) $V = (\frac{9}{3}) \pi r^{3}$ a) $\frac{dV}{ds} = 4\pi r^2 \Big|_{z} 4\pi (z)^2 = 16\pi$ b) $4\pi(2.2)^2 = 19.36 \pi$ 3.367